95-733 Internet Technologies                                         Take Home Midterm Exam 


Name ______________________                                                   Due:  Tuesday, June 5, 2012 Midnight
Submit this Word document to the Assignment section of Blackboard.
Each question is worth four points. In your answers to the XSLT questions, be sure to show the exact output with tags as well as text. It is not enough to show how an answer might appear in a browser.  You must show all tags. For multiple choice questions, give the best single answer.
Consider the following XML document (Books.xml):

<?xml version="1.0" ?>

<library>

  <book>

      <t isbn = "182312222">Black Water</t>

      <a>Joyce Carol Oates</a>

      <p>E P Dutton</p>  

  </book>

   <book>

      <t isbn = "282312255">Radical Acceptance</t>

      <a>Tara Brach</a>

      <publisher>

         <n>Random House</n>

         <c>NYC</c>

      </publisher>

  </book>
<book>

      <t isbn = "0307265439">The Road</t>

      <a>Cormac McCarthy</a>

      <p>Alfred Knopf</p>  

  </book>
</library>

(1) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
<xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   <xsl:template match = "publisher">

       <myTag>

             <xsl:apply-templates/>

       </myTag>

   </xsl:template>

   <!-- The * wild card matches element nodes -->

   <xsl:template match = "*">

       <xsl:apply-templates select = "*"/>

   </xsl:template>

</xsl:stylesheet>
(2) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
<xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   <xsl:template match = "publisher">

       <myTag>

           <xsl:apply-templates/>

       </myTag>

   </xsl:template>

   <!-- The * wild card matches element nodes -->

   <xsl:template match = "*">

       <xsl:apply-templates select = "*"/>

   </xsl:template>

   <xsl:template match = "n">

       <xsl:value-of select="."/>

   </xsl:template>

</xsl:stylesheet>
(3) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
   <xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   <xsl:template match = "/">

       <xsl:apply-templates select = "library/book/a" />

   </xsl:template>

</xsl:stylesheet>
(4) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
<xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   <xsl:template match = "library">

       <tag>

       <xsl:apply-templates select = "book[1]/a" />

       <xsl:apply-templates select = "book[1]/a" />

       <xsl:apply-templates select = "book[1]/a" />

       </tag>

   </xsl:template>

   <xsl:template match = "a">

        <Name><xsl:value-of select = "." /></Name>

   </xsl:template>

</xsl:stylesheet>
(5) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
                     <xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

                       <xsl:template match = "library">

                             3: <xsl:apply-templates select = "book[3]/p" />

                             2: <xsl:apply-templates select = "book[2]/p" />

                             1: <xsl:apply-templates select = "book[1]/publisher/n" />

                      </xsl:template>

                   </xsl:stylesheet>

(6) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
                      <xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

                         <xsl:template match = "library">

                             <myTag>

                                <xsl:apply-templates select = "book/t/@isbn" />

                             </myTag>

                        </xsl:template>

                     </xsl:stylesheet>
(7) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
<xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   <xsl:template match = "library">

       <xsl:apply-templates select = "book"/>

   </xsl:template>

   <xsl:template match = "book">

    Book <xsl:value-of select="position()" />

    Author <xsl:value-of select="a" />

   </xsl:template>

</xsl:stylesheet>
(8) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
                     <xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

                        <!-- The braces {}, parenthesis () and commas are simple characters

                               which have no special meaning to XSLT.

                         -->

                        <xsl:template match = "/">

                          (
                             <xsl:apply-templates select = "library/book"/>

                           )
                        </xsl:template>

                       <xsl:template match = "book">

                         [
                             {<xsl:value-of select="t"/>},

                             {<xsl:value-of select="a"/>}

                          ]
                      </xsl:template>

                     </xsl:stylesheet>
(9) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
<xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   

<xsl:template match = "/">

       


Root

   

</xsl:template>

                      </xsl:stylesheet>   

(10) What would be the output if the XML file (Books.xml) were processed by Xalan along with the following XSLT program?
<xsl:stylesheet xmlns:xsl="http://www.w3.org/1999/XSL/Transform"                



version="1.0">

   <xsl:template match = "text()">      

   </xsl:template>

   <xsl:template match = "t">

       <xsl:value-of select = "../t/@isbn"/>

   </xsl:template>

</xsl:stylesheet>
Consider the code we studied from the article on Ajax. 

public void doPost(HttpServletRequest req, 

  HttpServletResponse res)

      throws java.io.IOException {

  Cart cart = getCartFromSession(req);

  String action = req.getParameter("action");

  String item = req.getParameter("item");

  if ((action != null)&&(item != null)) {

    // Add or remove items from the Cart

    if ("add".equals(action)) {

      cart.addItem(item);

    } else if ("remove".equals(action)) {

      cart.removeItems(item);

    }

  }

  // Serialize the Cart's state to XML

  String cartXml = cart.toXml();

  // Write XML to response.

  res.setContentType("application/xml");

  res.getWriter().write(cartXml);

}

(11) Circle the one correct statement:

              a. this code is responding to a SOAP request with a SOAP document.


b. this code executed on the initial request to the web application.

       
c. this code executed within the browser.

              d. this code is Javascript. 

              e. this code is responding to an HTTP request with XML over HTTP.

(12) Circle the one correct statement:

             a.  The asynchronous call received HTML from the server.

             b.  The update to the HTML was based on the XML received. 

             c.  The update to the XML was based on the HTML received.

             d.  Javascript ran on the server.

             e.  JSP code ran in the browser.

(13) Consider the following code from the Ajax article:

    <td>           

       <button onclick="addToCart('hat001')">Add to Cart</button>   
    </td> 

        The method “addToCart() 

a. is a callback method.

b. is an event handler.

c. creates an XMLHttpRequest object and assigns to it a callback method.

d. returns control to the browser thread only after the server responds.

e. Both b and c are correct.

(14) Consider the following code from the article on Ajax.

function getReadyStateHandler(req, responseXmlHandler) {    
     return function () {   

         if (req.readyState == 4) {           

              if (req.status == 200) {          
                  responseXmlHandler(req.responseXML);        
              } else 
                   {       

                       alert("HTTP error: "+req.status);       
                   } 

                        }

     }

     Which of the following code segments makes the most sense?

a. req.readyState = 4;

req.readyStatus = 100;

updateCart(req).getReadyStaeHandler();

b. var x = getReadyStaeHandler.function();

c. var req = newXMLHttpRequest(new getReadyStateHandler());

var handler = req.function();

d. var req = newXMLHttpRequest();    

   var handlerFunction = getReadyStateHandler(req, updateCart);       

   req.onreadystatechange = handlerFunction; 

e. updateCart = newXMLHttpReques().

updateCart.getReadyStateHandler();

(15) In homework 1, you were asked to create a grammar in XSDL for (choose the best, most specific, single answer):

a.  JSON 
b.  Schedule.xml

c.  URLList.xml.

d.  Ajax

e.  SOAP

(16) Part a) asks you to state one reason why JSON might be preferred to XML. Part b) asks you to state one reason why XML might be preferred to JSON. Part c) asks you a general question about the two. 
      a) JSON is preferable to XML because:

      b) XML is preferable to JSON because:

      c) Languages such as XBRL, FpML and MathML are encoded how? (Circle XML or JSON). 

(17) Suppose we have a line of XML that reads <employee id=”22”>Jones</employee>.

a. id is considered an element.

b. id is considered a namespace.

c. id is considered an attribute.

d. id is considered a property.

e. id is considered a namespace prefix. 

(18) JSON is 

a. an XML language

b. used to describe arbitrary Java objects

c. used to describe Javascript objects

d. a non-readable binary format

e. an obvious replacement for XML

(19) Write an XML document that corresponds to the following JSON message. Namespaces are not required.

{ 

   "firstName": "John", "lastName": "Smith",

   "address": 

      { "streetAddress": "21 2nd Street", 

         "city": "New York", "state": "NY", 

         "postalCode": "10021" 

       }, 

    "phoneNumbers": 

       [ { "type": "home", "number": "212 555-1234" }, 

         { "type": "fax", "number": "646 555-4567" } ] 

} 
(20) Briefly describe what will occur when the following HTML file is downloaded to a browser. That is, describe what the browser will do. Be as specific as possible.
<html>

<head>

<script>

    function loadXMLDoc(dname) {

       if (window.XMLHttpRequest) {

           xhttp=new XMLHttpRequest();

      }

      else {

          xhttp=new ActiveXObject("Microsoft.XMLHTTP");

     }

     xhttp.open("GET",dname,false);

     xhttp.send("");

     return xhttp.responseXML;

   }

function displayResult(){

     xml=loadXMLDoc("cdcatalog.xml");

     xsl=loadXMLDoc("cdcatalog.xsl");

     if (window.ActiveXObject) {

             ex=xml.transformNode(xsl);

             document.getElementById("example").innerHTML=ex;

     }

     else if (document.implementation && document.implementation.createDocument) {

                xsltProcessor=new XSLTProcessor();

                xsltProcessor.importStylesheet(xsl);

                resultDocument = xsltProcessor.transformToFragment(xml,document);

               document.getElementById("example").appendChild(resultDocument);

         }

 }

</script>

</head>

<body onload="displayResult()">

<div id="example" />

</body>

</html>

(21) Draw a picture and describe what the following XPATH expression does. 
              //coolTag[anotherTag="6502"]/anotherElement
(22) The following lines of code would likely be found where?

<%@ page import="java.util.*" %>

 <%@ page import="developerworks.ajax.store.*"%>
a) In a Java application.

b) In a JavaScript routine.

c) In a servlet.

d) In a JSP page.

e) As part of an AJAX request message.

(23) Briefly describe the contents of a typical Atom or RSS document.

(24) The XSLT language is able to process XML documents containing namespaces. (Circle True or False).
(25) Consider the following code snippet from Wikipedia:

       XMLInputFactory xmlInputFactory = XMLInputFactory.newInstance(); 

       XMLStreamReader xmlStreamReader = xmlInputFactory.createXMLStreamReader(...); 

       while (xmlStreamReader.hasNext()) { 

              xmlStreamReader.next(); 

       }

       Circle one statement.
a) This program is using DOM processing.

b) This program is using SAX processing.
c) This program is using XSLT processing.
d) This program is using StAX processing.
e) This is Javascript and not Java.
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